N of reco track vs pT

tracks

(%)
X
[5)
s
=

Ratio

N of associated (recoToSim) tracks vs pT.

N of associated (recoToSim) duplicate tracks vs pT

Ly

9] %] [%]
3 3 g
I IS I
= E=] =
S g 2
£ K 8107
a
=]
°
2 o
T T
14 4
9] %] [%]
3 2 ¢ P
I IS @ r
= s = L
S g 2
= s 810
=3
=]
°
E i 2
] 5] :
: ] x :
I ] . :
1 3 =3 -2 -1 0 1 2 3
track n track n
N of associated (recoToSim) duplicate tracks vs phi |
9] %] [%]
3 3 g
8 s IS
5 ] =
s g 2
= ©
5 s 51
o
3
°
o k) o
T T T
o4 14 4

2 3
track @



	Contents
	Page 1


